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What is the name of cork cambium?
(A) Histogen (B) Tyloses
(C) Morphins j ~ Phellogen

s&6ma Cabllwsgden wmn QuwIT eremen?
Q) eflevGLmgen B) e Camrevev
(C) wrrSensern (D) QuéCemgmen

Calculate the pH of a 5x 107 M solution of barium hydroxide Ba(OH), solution at
25°C (log?, = 0.6990) (Ba (OH), is completely ionised)
@ 3 B) 11

©) 2.301

25°C Glsuuulrﬂma)lﬁ}éb 5x10° M Qsdeyerer Cuilwib eant gréemav® Ba (OH), seyseen
pH i) erénan? (log?, = 0.6990) (Ba (OH), appiigib siweflurdenms)

A 3 : B) 11

(C) 2.301 D) 12

Who proposed law of octaves while arranging the elements in the periodic table?
(A) Lavoisier \M New Land
(C) Lothar Meyer | (D) Mendeleev

saflo afles ol Laoardsd safllvmsar afl@siu@sgn GCurg e  eHfaw

pe@wmflbgeum wmri?
A) @erCGeurélwm B) Hluy eomamr
(C) Caorgir Gowrr D) Qe _CaGuweu
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4. The downloading speed of 5G enableci network is about

(A) - 2000 mbs (B) 3000 gigabit per second
d - 20 gigabit per second - (D) 200 gigabit per second
5G gy aume udletings Geusnarg | | _
(A) 2000 mbs ' -~ (B) 3000 amar/eipmg
(C) 20 é‘amﬁlf_laﬁ‘r_ﬁrnq_‘ (D) 200 PamI/eAmmg
5. Match the List I. with List II and select the correct answer usmg the codes given
below : . . :
~List1 o . ListII
Scheme | - Features
(a) Mentor India 1. To promote innovation and entrepreneurship
() PMMVY 2.  To provide banking and Insurance services to rural
. : ~ the poor
&y SBGY - 3. For providing free LPG connections to women from
S - BPL households :
(d) -PMUY - - 4.  To improve pregnant women health
@ e © @
(A) 4 3 -2 1
B) 2 4 3 1
1. 4 2 3
(D) 3 1 4 2. .
uLliguied I whmo lJL[q.UJGlJ IT g Qumrmpss ECy Qasrr@asa;uul_@mm &rﬂmrran GﬁTGmLGnu_I Cairey
Qeuis : _
g uien I ulgued 1T
S ' QueLser
(a) Mentor India 1. dgmfle (pereray mmg;uw qg,g,rr&asgmg, CbuBss s
(b) PMMVY 2. doroyp gepsEnsE eubd wHmb a;rrU|3|_®
. . Ceaneusaner iefsse
{¢) SBGY 3. BPLgeaonsalal(mbs Qoo LPG @maﬁu@.mm
| , - Queins@EnéE aipiiEss
(d PMUY ' 4. s@eybp sriwrieefles zamet QubLIRSSISH
@ ® © @
(A 4 3 2 1.
B 2 4 3 . |
© 1 4 2 3
Dy 3 1 4 -2

AHGS/2020 . | - S



6. Which one of the following is called as the tallest Gopura in South Asia?
(A) M;aenakshi Amman temple Gopura
‘(B) Sri Villiputhur Andal temple Gopura
./ Arulmiéhu Aranganathar temple Gopura

(D) Nellaiappar temple Gopura

SpaumeuaneupmieT Qsn@ 2plwrelern s 2 wiihg CamUTD eTar iMWPEEILIHID G 6TE)?
(A) WBerm_& sjbwen GCamufler Camyyo

B) b NellysanT errmear Camuliler Camyybd

©C) simerdE sigmsprgst Camuie Camyyb

D) Arevenewinir Gamuller GCamyyb

7fie Who is the author of a book ‘The Seenet common wealth’?

(A) Vaishali Shroff

M Philip Pullman

(C) Hans Christian Andersen
(D) Stephen King

- “srwearteuds QrsSlwb’ eremm mredler < Aflwir wimir?
(A) aeusned Qagi..L
B) WeiyGoe
(C) amene SfleviguIe 2y, TFe
(D) . evguen S

3 ' 5 AHGS/2020
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é. : Mat_ch the followi_ng. places vs-ritl-i_théir locations :
(a) National park 1. 'Na.l sarovar
(b) Wi_l.dlife- sanctuary o 2. Cort;e_tt
{©) B.ird sanctuary | 8. _Sund:;.rbans
(d) Biosphere reserve 4, Baxidhi pur:
@ b © @
a3 4 1 2

‘® 2z 3 4 1
W 2 4 1 3
D 4 1 2 3

Qe @ semer Seuplen semosil g en QuimSg!s :
(a) Gb&lu_l LB - 1L mesGoreur
' tb) mwleﬁ]mrh@&u@nsvmb' 2.  GesmQul
{c) umwma;d'raum'rrmm&‘ 3.. " '&Mum@eﬁsn@&cﬁ
(@ euiCsmer G 4. ug.g.;.gﬁ |
@ ® © @

A) 3. 4 1 2

® 2 3 4 1
© 2 '_4' 1 3

D) 4 1 2 3
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10.

Where do you find Meso — Thermal Climate in India?
(A) Eastern Ghats
(B). Western Ghats

J Gangetic plain

(D) Coromandel coast

@gglmrraﬂ@ Qaent_flenew Geuliuware o sreblene ermbiE srarTliu(B&mg)?
A) Syse Asriiss e

(B) Cuwmng AsrLiésl wene

(C) smas swleusf

D) Csmywear_e sLpeny

In Indian Constitution ‘Secular State’ Mean

(1) State Protects all religion equally

(2) State shall not uphold any religion as the State religion

(3) Secularism is the basic structure of the Indian Constitution
(4) - State neglect all religions

.(A) (1), (2) are correct — (3), (4) are incorrect

B). (2), (3) are correct — (1), (4) are incorrect

J (1), (2), (3) are correct (4) only incorrect
(D) (4) only correct (1), (2), (3) are incorrect

@nHw sipfwieenoile Fows FMTUDHD UTTSMBUIGT ATESID cTeTET?
(1) <ors smasg SHIGMET ST&EE S .
(2) ahs THD ThS LSS SNULITS 2 WITSSEF0L TS
(B)  sww eTTUDHD ey ClETe BiFElWELOLILIIET Biig LML HGLD
4) <irs si@asg wRsMETL D Lnssamilsdng
@) D, @ sfunengi— (3), (4) sespres,
B) (@), 3) shlwreng — (1), (4) seupreng)
©) (D), @), (3) sfurerz (4) wI b sapTens
D) @ v @wsesfureg (1), (2), (3) seupreng
7 : _ AHGS/2020
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11.

12.

Which one 1s the correct statement

1. . The relation between the portuguese and vijayanagar began in the 1eg10n of
Krishnadevaraa.

2. Vaskate I1 received a letter form Ph111p IT king of Spaln for protectlon of trade.
3. Atonia Cabral met Akbar at Surat

4 Akbar d1spatched an embassy to’ Philip II and the leather portugal 1582

A) 123are correct 4 only mcorrect (B), 1,2 are correct 3,4, are incorrect
-A)

(C) 2,3,4 are correct 1 is incorrect " 3 only correct 1,2,4 are incorrect
Sggassml_ mmgjaaﬂm sfwnras, Grg,j?

1. GurisgsSflumssn  ofgubsy éqg&ias@m é]@aq.m@g,euunmn LT3 a,r_r)eqa;srr
Qerrdug:.

2. @oammb Geugbs i aoGilen wenama @l]m"n_rrm GeSLnGeib OTGIER curaflLL TGS

s gnsmer Qubmm.

3. .=9|Gi_rr60ﬂtun Calired s&uany @rygj’]m &pé]g,g,lrrr
4, C @sut @remomd Gdbe Sis 0 Ganem .:m@u_n_cﬂ SISENEEG 1582 &

Gunéssamen gwq_r;gg
A) 1236 4 poupnengy B) 1.2 34 sapras

(C) 2,3.4 eflwneng) 1 wl (i seupreng, D) 3w @b sflwrmeng 1,2,4 supreng

.Who was responsible for the security of the vﬂlage under the Marathas in South

India? o
(A) Desmukh | (B) Faujtar
(C) Kotwal w Patil

Ogenaflbdlwimelley ymliquir smesHlea qﬁ]gﬂmgﬁmd LITESILILE) W Ql_irigjuq?
&)  Coeseps . B) vugsai |
(C) Qardsumed _ D) v yge

AHGS/2020 g N s



13.

14.

15.

16.

The Election Commission has become a three member body from the year

@A) 1991 | (B) 1992
(© 1990 | & 1993

CoiTse 2penamTWILD 6THS <24,eRTlq.60l(HHSI (P DIBISSS T DeMOLILITETS)
(A) 1991 (B) 1992
(©) 1990 F (D) 1993

National Judicial Appointment commission act was passed on
M 31st December 2014 (B) 1st December 2014
(C) 2nd December 2014 (D) 3rd December 2014

Cadlu BHsgin Hwiver memué &L @uHOUILL LS
(A) 31 gspur2014 (B) 1gesbur2014
(C) 2ygs&buir2014 (D) 3 gebur2014

The Governor of state is appointed by
w The President (B) Prime Minister
(C) Chief Minister (D) Supreme Court Judge

wrble e Hluwarsas Geuueut
(A)  Gywrssd st (B) Qysuwi
(C) @soeur (D) e sspdwenn FHuSH

The Cabinet Secretariat was created in India in the year
(A), 1947 (B) 1951

M 1950 (D) 1952

@pdwnefe CaGen QFwsDd < eT(H 2 (HUMESLILILL g
(A) 1947 . (B) 1951
(C) 1950 _ (D) 1952

9
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17.  Population density means

V4

(B)
©)
M)

No. of persons living per sq.km.
No. of persons living per km.
No. of persdns living below poverty line

No. of persons in a village

DESET AL TES) eTemLig)

@)
(B)
©)
o

Q% 517 &8 &@ TEFenaen FLUNSET auTpElpnTser
@ S5 6@ arsg@en pUREET eunpdpriser
aupienns GarlignEs Sip eurph HLITEET ramelEams

gmogdlé eur(pld ;Dufreaaﬂeh cranenll&ang

18 Which of the following measures have been taken to attain the aims of the new

- industrial policy

R ¢Y)]
(2)
(3)
4D
(A)

W

Industrial Licensing _

Foreign Investment

Foreign Trade Policy

Public Sector Managemeht

(1) and @only - (B) (2) and (3) only
(1), (2) and (4) only - D) (1), (2), (3) and (4)

. SpsaT_eupmier Lgu AsmAnQstarasuilen Crrésnsmer el ausheE CopOsmerariiul L

(PERDEET LIMTEHEU?

(1)
(2)
3
- @
4
©

AHGS/2020

Qsmfes 2 Aioid

SOBHTLG @:54‘3@ |

SIWOBI G eurailué Qsrdrens

Quing) sieop fiauns

(1) opgid () wiGd  (B) (2) whid (3) wrGid
(1), (2) iodgid (4) o1 Gid D) (1).(2). (3) wdmid (4).

10 o g



19

20.

The Instruments of monetary policy are
I. Bank rate '
II. Tax rate

III. Cash reserve ratio

(A) I alone is correct (B) I and II are correct

I and III are correct (D) I, IT and III are correct

uenté Qamerensulen &mellser
1 cumdl ez

II.  eufl a9dlsbd

III.  Qprés @iy g

A Iwi@wed (B) I wpmbd II w @G &

©) I wppi II wr @i & D) 1, II wpmid 1T wr @i &

Which of the followings are denotes the meaning of Goods and Services Tax?
(1) It is a consolidated indirect tax

(2) It is a single unified tax

(3) It is imposed only by Central Government

(4) It is payable at final point of consumption

(A) (1) and (3) only B) (1), (2) and (3) only
(C) (2), (3) and (4) only W (1), 2) and (4) only

Spsan_cuhmer Qurlser wHmid Ceameuser eufl remuger QuTpeT wWireneu?
1) @8 wepws afilear AsTELLTED

(2) Crwrdflwrer gafl cuflwm@b

3) wsHw sigared LWL HCWL lfssLILHUSTELD

(4  msie ol yerelluder Ae@idgieusEd

A) (1) wpmd (3) LB B) (), (2) wpgid (3) WG
©) (2, (3) Lpmd (4) LA D) (@), (2) wpgib (4) L EWL

11 AHGS/2020
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.21, Who was the king of England when collector Ash murdered by Vanjinathan at

Maniyatdhi‘? ' |
(A) George-IV (B) George - I1T
V.4 George - V. (D) George-VI

wasfluréSulies @n@!ﬂgngén, wreul L ot A yevas sC Hé Qaram Guimg, Qriflonbg
. LDEEETS @) (BHSeUT uIi? ' | B |
(A) prememd STTED g (B) wapenprd ggrrr'rg'

(C)  mBsTb g _ D) o gmrig

22 Which one of the following was not written by V.0. Chidambaram?
(A) Meyarivu (B) Meyﬂaram
(C) Padal thirattu & Suryodayam
SpsaLeeusetien ou.2.. AFBUTD SIITENE TWSIUL TS QD G@‘? |
(A) Cuuwdey _ _ (B). _QLDU'.IiL[;DLbI_

(O U ‘é,]g.;@ _ - : (D) GAGUTEWID

23.  While Subhash studying in school, he was inﬂﬁenced by the teachings of

j) Vivekananda . - B) Ramakfishna |
(C) Lord Buddha | _ (D) Aurobindo Ghosh
iy LaTaflue) Lig 8 cnp srasgfle — - — GunsmesaTTé: SfEib SAITLLLLTE.
(A) Gﬁ@@anmﬁ,gﬁ- | : o | (B) Qomodlmegeat
© @apusst D) nSpGanGares
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1925 (B) 1926

24. yn did Periyar Organise the Self-Respect Movement?

25.

26.

(C) 1927 (D) 1928

Quilwrt swwflures Qusssms arGung Agm_mdami?
(A) 1925 (B) 1926
(C) 1927 D) 1928

Where was the Fourth District Self-Respect cguference held in 19437
(A) Erode J
(C) Tirunelveli (D) Kumbakonam

Salem

swoflwurens @usssder pransreus) wreul L wrprE, 1943-6 6@ HLbsSs?

A) mCyr® _ (B) Csawd

©) HmLApatGaudl (D) @LUCsTeRTD

In which year election, the Justice Party secured a majority and formed the ministry
for the first time?

@A) 1919 d 1920

(C) 1921 (D) 1922

(PSP EOTE GI"I]"-;'Q}- <@ Sdess’d Quburaienw Qeupdl CQuipm whHf seuew

SADLOSHE)?
(A) 1919 (B) 1920
(C) 1921 D) 1922

217. ych English General was defeated by Pulithevan

General Alexander Heran (B) General shephered
(C) General MaCalay (D) General Watson

yell5Caeuanmer Compsiiul L mdle serugl wmi?
A) Qe oQessra i Glanymer (B) Qgeme Qagliii@
(C) Qgame QuwssmCe (D) Qgeyed eur_sen

‘13 AHGS/2020
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28.  According to Valluvar, in which way, a man should speak in day to day life? Which

stagement is correct?
Sweet Speech with cheerful countenance _

(B) To say disagreeable things when agreeable are at hand, is like eating unripe
fruit when there 1s ripe | '

(C) When does he use harsh words who sees the pleasure which sweet speech
gives

(D) Sweet speech will give pleasure both in this world and in the next

STEUEUM <SHETTDITL mn@éﬁm&uﬁl@ P(HEUEST Gus Cevemmr(DGoenmy eueT@Emeut samord? ér,r_'r,g

sapm sflwneng? '

(A) @eflu QendCe o crersnyL e EmmauCs Dmib _

B) Qeabsmed Cusmod sHESGsTH Fmsed vPsMES Saamodw stows Herug
CumenEb

€) Q@ealQsre Geanigass smevenss sanbdw sHEECETd Cuasug gen?

D)  @eflu Qsmpset PEHGplGgid Qaubsmn

29. In 1912, whq translated ‘Bhagavatgithai’ into Tamil?
(A V.Ramalingam (B) V.O.Chidambaram
Bharathiyvar (D) Subramania Siva

1912 — y1b TR 'ue;eué&aa,s" ow sBfe Qumd Quuriss Qe auf wri?
(A) Qeu. predkiED B) .2 fAzburd
(©) unrdwri D) sigwestiv Heur

30.  St. Ramalingar concept of Karunai was based on the concept of
(A) Idea of peace {B) _Service
(C) Help to others the unity of mankind

Leflg Qrmodinsfan smenet aramn Can_un® Bsman g UL LTS QT (HHES!
(AY  owd ereny smHSs (B) Gsevcu |
(€ pEsE 2-poyssd D) yaoGpu gmerwiur@

AHGS/2020 14 | 3



31.

33.

34.

35.

When did Unique Identification Authority of India (UIDAI) established?
( 2001 (B) 2005
2008 _ (D) 2009
@ipdwrefler Syran e wimemd &TEmib Qpenarmub eriCuTg QarLmistul L g)?
(A) 2001 (B) 2005
(C) 2008 (D) 2009
Which of thé following Magazine has given 4 awards to TamilNadu in 2019?
(A)y Outlook ' (B) Front line
India Today (D) Tamilarasu
2019- b <y Spssa ahs QS Brean eNlmgismer SUIDHTL g HE euphidluig)?
A) eyl as B) Ygrer_eneve
©C) @bHurHGL D) sblpys
How much of gold for ‘Mangélyam’ of unmarried poor women distributed at present by
Tamilnadu government?
A) 4gm W sem
(C) 10gm _ (D) 12 gm
Smwentd wa1s g QuaTsEnsE STalssTs gg)(:ung] g,uS]Ep‘r_r,rr(Q aqanm&ggﬂm QULPRIGLILIHILD
SRIGSEET D ATE GTEUEIATEY?
(A) 44dlgmd ! B) 8&lgmbd
(C) 10 4&gmb ' D) 12 4lgmb
ransplant Authority of Tamil Nadu (TRANSTAN) was created in the year
2014 : (B) 2016
(C) 2018 (D) 2019
sOPHTH walls 2 pUiy LIHY Dpe@eRTD QST_RGHULL GU@I._LIZ;
(A) 2014 (B) 2016
(C) 2018 (D) 2019
What type of water bodies has the problem of salinity in TamilNadu?
(A) River water (B) oCanal water
(C) © Pond water ) Ground water
OB 1460 6THG euemawimer i Fleve 2 LiLSsenenin GamearTL @gé&mwu_lrr‘.&s Qararr(Herans; ?
(A) s BT B) smeeumi Hir
©) @emd Hit D) Hessy bi
| 15 ‘ AHGS/2020
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36. The Human Developmeni: Index is a composi'te index encompassing three are

dimensions of human development. -

M Health, Education and Income

(B). | Reprod_u_ptive Health, Empowerment and labour market |
(_C) ‘He alth, Education and Po.-verty

(D) Health, Education and Irri-gation

weaflg Cuobur' @ L csmen @@ soma I Laman Gogin gpeany uflioTammamar

: -ashan_ésé]u_jg;]

(A) 2.6 pab, Hdel Ld,rbgub m@mrreml.b

B) Fanl@ u(pjé;é; < CrrsSun, @lﬁanumaﬂ‘é}géﬁ WHHD Gm@mm‘ﬁmuq &ﬁ)'a;g. .
(C) | 2, Grradwib, asab%&l WHILD GumIeHLD | | |

D) Crradwibd, sevsfl LHMD gﬁﬁuﬁawmb’

87.  The value of (1° +2° - 15°)=(142+....+15)
A) 14400 .' ®) 14200
W 1m0 (D) 14520
@42 4t 15— (142 4 4 18) 0By |
(A) 14400 . : - (B) 14200

(©) 14280 - (D) 14520

38, If + sfands for x, — stands for +, x stands for — and + stands for +'lthen o
25+32-4x12+3 SR _ | |
(A) - 137 T B 125

Misn o L - (@) -197

+ GTElLIG) X , — GTELE| +, X Gféiﬁl.lg,] — whHmbd =+ eranug) + GHissTeD 25 +32-4x12+ 3 aanug)
@A) 137 - (®) -125
Gy 191 : o -197
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39.

40.

41.

If "NGCH" stands for "LEAF", then "MPQY" stands for

A) JMNV (B) KNOW
(C) LOPX (D) KOWN

"NGCH" eraim eumiseng "LEAF" arempy eunigensenws @g’ﬂg;g,rrcu "MPQY" GTGOTM
Qamm@mm_i Gh&@w Qerm@mmrLi

(A) JMNV { KNOW

(C) LOPX (D) KOWN

A and B together can complete in 12 days, B and C together can complete in

15 days, C and A together can complete in 20 days A, B and C together can complete in

10 days
(B) 12 days
(C) 14 days
(D) 15 days

A vomb B @meumb em Caumaamw 12 sriseafler Qg wpryium B wombw C =CGs
Ceuamavenwt 15 prsefled apigiui. C womb A Cs Ceauamavanws 20 prsefled (gL erasfled
A, B upmid C apeusid Geambg) 2icuCGauanaeni (pigds Coeneulsi(Hid Bl ser.

A) 10 priser
B) 12 pr_ser
(C) 14 priser
D) 15 priser

If9 Splders make 9 webs in 9 days, then 1 Splder will make 1 web in how many
days?

(A) 1day | M 9 days

(C) 18 days (D) 12 days

9 ﬂsu;j,é]&eh 9 auwaverws 9 prr_serfled 616&1@1@9@ aafler 1 Hepd 1 euemavenis earggena preafle
Ylegg b ? :

A) 1 pmer (B) 9 mriser

(C) 18 mpriser (D) 12 priser

17 AHGS/2020
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42.  If V is the volume of the cone of radius r and V, is'the volume of the cone when the
radius is doubled then '
(A) V=4V, B v=2v,

©  V,=2v | v

g b6l Sy 1 Gt DiGeN Henaney 'V @b, sbllan <y rSws @Ul'_Lq.‘é',‘é_}',l;TGb e
&a emey V, @I, JsucunEpeRmme.

@ Vv=ay 0 (B) V=2V

H{C) Vv, =2V D) V. =4V

43. Base area of the right circular cyhnder is 30 sq.cm and 1ts height is 6 ¢cm then the -
* volume of the cylinder is

(A) - 60 cu.em ‘ (B) 90 cu.cni
(C) 120 cu.em w 180 cu.cm

G Cpi eulL 2 m@enden iqiugiy 30 Gs.8° wHmb Siger 2w 6 Q& & GI'GBﬂGU aqgan .
G A6 u.m’gj'? ‘ |
(A) 6B0s.. ' (B) 90 8.2

) 120s.n D) 180 &.=2

44. A type of bacteria grows. It increases at 5% in 1%t hour, decreases at 8% in 2 hour
and again increases at 10% in 34 hour. Find the number of bacteria at the end of 3
hour if there were 10,000 in the beginning.

S 10626 (B) 10266
© 10622 . @ ne

R auens Udeflun gpgoreg ¢ tesf G'ihljgg‘ﬁm 5% aueriFAluyh, GrarLreug) ¢ el
. Corsdé 8% cueridd) ey, apemrag) b el Gorsda 10% aertédubd s fpg.
seiled Siser eramanfiGens 10,000 o5 @Qubstsello, epann wnexf ngug@m@u Gn@ =9|g,asr
. srmamﬂa;ma;mma; STERTE. _
(A) - 10626 - - (B) 10266
(C) 10622 . (D) 11626
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45.

46.

47.

Find the largest ratio among
4:5,8:15,3:10,1:2

) 4:5 (B) 8:15
© 3:10 My 122

Ssangnid elldlgnsate sLEOUMWLE 6rg?

4:5,8:15,8:210,1:2
A 4:5 B) 8:15
(C) 3:10 ' D) 1:2

21 :x=9:256=9:15
value of x, y = 3 respectively

(A) 25,15 (B) 35, 10

\d 35, 15 D) 15,9

21 :x=y:25=9:15

x, y -e iy peenCuw ; DG LD.
(A) 25,15 (B) 35,10

(C) 35,15 D) 15,9

LCM of two numbers is six times their HCF. If HCF is 12 and one number is 36 find

the other number

(A) 48 - (B) 36
2 D) 12

Am erarsafian 15.8..0 yearg 5.Qu.sm.uber 6 wLmsTEWL B.AursT 12 wHNIL @i erar 36
araflev, LHEmm, TETmaRTS SRS '
(4) 48 . (B 36
©C) 24 D) 12
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48.

a+b
a-b

If o> +b%2 =234 ah_d ab =108 then find the value of

(A) 10
(B) 8

. ® 4

49.

o +bt =234 Lomg;fo ab =108 erafler “,—’“z-saf wHIMLE STENE.

(A) 10
® 8
© 5
(D) ‘4

8% metres is what percent of 11% metres?

A 60%
B 72%

- 4/ 75%

D) . 68%

8% ;&Lu’r Grsiﬂugj 11—% BLLfe ersgenan 5565507

(A)  60%
B) 72%
© 5% |
D) 68%

AHGS/2020 | 20



50.

51.

52.

21

Where the sex chromatin seen in man?
(A) Male d Female
(C) - Both (D) None
waflgaie umaw@Crmomiger wrflLb sresriuBdng?
(A) et (B) Quesr
©) @maufigib (D) eaufliqpb Qe
A cross between Fi hybrid and recessive parent is called
W Test cross _ (B) Backcross
(C) Monohybrid cross (D) Dihybrid cross
F1 seulagms @@ @ QudCnrmer solibeand Geuieug @eaieurmn siampssiu@ng
(A) Gsngeans seli i B) YGer seiy
(C) e uarrys sy (D) @m uerrs seviiy
Match the correct pair
(A) Lichen — Euglena
(B) Algae - Penicillium
(©) Gymnospérm - Aﬁthoceros
. J Virus - Hepatitis—B
QemeupueuateupmieT sfwmer Ggmgamw Csiey Qs
(A) eesbser - widatleorm
B) s - Quefddlu
(C) Huwlamev@uiid - N TUAED (1]
D) eeugev - Qanuun_ggev— B

AHGS/2020
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53. When detergent is mixed with water, the dirt from clothes is easily removed. This is

due to
(A) Pressure (B) Viscosity
M Surface tension (D) Force

BLcir Hiflgy FevensusEIdT SabS) gjsmeugg,rrab., geanllufer LiWsE aeallded SiIsHpLLBE @b
LGS SMeRTiD ' '

A epssbd - B) urdwé
(C) - uply Qpellens - D) &fens

54.  The value of acceleration due to gravity from equator to the pole

'é Increases (B) Decreases
(C) Constant | (D) Zero

el FrrlnSlem apREsn HopsCarBu ugdasaldmhg gl uGHaeila
@) o | ®) eopud
(C) wrpng ' | (D) ymguib

53.  The operating system used in Whatsapp is
(A) Window | S € Free BSD
(C) BEAM (D) Erlang

QU6 060 LweTLRSSILELD QuisED QerEunmeT
(A) Window (eeGLr) (B) Free BSD (.99 BSD)
(C) BEAM (Sw) | (D) Erlang (erfraori)
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56. Match :

List I List IT
(a) GATT 1. Managing balance of payments
(b) IMF 2. Development Finance
(c) IBRD 3. Free trade
(d) UNO 4. Maintenance of peace among nations

() (b) (c) (d)

A) 2 1 4 3

- A 3 1 2 4
© 2 3 1 4
(D) 4 1 3 2
QummBESIE :

Ul igwed I U gwied IT
- (a) sl 1. Qsrhluuemeusmer swHlaneiL(hHE5iSHe0

(b) serib.eTL 2 euarigél HlS)
€ o9 g 3.  &snpdlyauisssid
(d) w.eremgp 4.  pr@psaieLCu smwdaow Cuanigeo

@ (b (© (d)

Q) 2 1 4 3
B) 3 1 2 4
C) 2 3 1 4
(D) 4 1 3 2

57.  Which sector has the maximum level of disguished unemployment in India?
Agriculture (B) Industry
(C) Trade (D) Transport

- @pdHwumeiled Dfls sjemey webg;q,oa; Ceuanavulienenio Hlaweyd giewm 618 ?
(A) Ceuermemrenio B) Qsmfe
(C) eumrenfluw (D) Curs@eunss

© - : 23 - AHGS/2020
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58. Out of the following, whlch group does not fall under the category of DraV1d1an

Fa m11y9

(A)
®)

b

Yarava
 Kota

Badaga

Kanauri

GeneumaiaTaupmar aps @ HIeILs GHOUSSa &) ausug?

(A  wmper
(B) Gsmionm
(© uLnrsn
D) seeyf

59. Consider the following statements :
through the following states : . '
(1) Kerala .
(i) Karnataka
() Goa
(iv} Maharastra
A (@), (ii), (iii) and (iv)
(C) (@) and (iii)

The 760 km long Konkan r.ailway passes

B) (i) and (i)
(D) @), (1) and (u1) are correct

&g;a;swn_ ansdlwgeang seueafl: 760 .5 Em@mum Qemser crufﬂeu 59&35&7; ThHS

Lorrﬁsuma;smm a_&8pg?

(i) Garomm '

@) | stpmisr

(i) Garan

(ivj LD&WIJ’rra'q.Lq_f]fT

Q) @) ), (i) wppo (v)

©) () wppud (i)

AHGS/2020
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Find the correct matching for the given rivers in Column B which drain the plateaué

in Column A
A B
(a) Malwa plateau 1 Damodar
(b) Chotanagpur plateau 2 Tapti
(¢) Meghalaya plateau 3. Chambal
q

(d) Maharashtra plateau Yamuna

@ ® © @

A) 2 3 4 1
“3 B 4 2
© 4. 3 1 2

2 4 1

(D) 3

Qpheufleng A — @ QarhHssiulBearer pHs@mer semeuser umyb Ar@Heflers B —e
Qar@ssiiuL_Herar lSI_IELLﬂas@I_G&T sflwrs QUTHSESS.
A B
(@) wmreeur Liyif 1. srCGorgm
(b) GemiirmpréymSiyl 2.  smid
() Cuwsreowr Syl 3. énbud}

(d) Lnamyrrm'g,i;ufr R[E 4. WI(LPEDTT

@ b (© (d)

&) 2 3 £
®) 3 1 4 2
©€) 4 3 1 2
D) 3 _ 2 4 1
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61.  What is the [deology of oriental despotism? _
(A) Changing society = _ (B) Democracy
(C) Oliganchy ‘ : Unchanging society

EerpsCaw eudbem’_ £l eranugen H(HeHI eremen?
(A) LTHWD FApSDd (B) wasenm &
C) ew éti,l.'ﬁa (D) wrprg sepsd

62.  Which society transmitted Indian culture to Europe?
(A) Afghani (B) Gujarathi
(C) Parsi & Sindhi

B Fapad BIBHwl ueTum g ear @GrrLLTellh @ Lra|usDHE uems QFLISE ?

(A) usreflwuf B) Ggrrsdur
(C)  urrdlwr ‘ D) Apdwir

63.  Which was the primary factor for Buddhism to become popular?
(A) It boosted cattle wealth '
(B) It emphasisal non — viclence
(C) It created the field of intellect and culture

It was inclusive of women and lower section of society

QUeTESID USPELNGUSDHE WPSTend SrTartiumi Henbs S(HSS 6TH?
A) g Cuflsbsdausamas Gurhbiug

(B) 28 Sahwesamw Gurbiug

(©) Sig SiDleygmi L@TLm_enL 2 (HUT&Swg)

D) =g duansaflLd 5500 sapssHenan b CorsasbEram g
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64.

65.

Which one of the statement is incorrect regarding the Guptas?

(A) Coins depicts the figures of Chandragupta and Kumara devi

w Harisena was one of the important officers of Chandragupta

(C) Samudragupta inscription found in Ashoka Pillar at Allahabad

(D) Inscription from Iran reveals the information of Samudragupta

GUsTsmar LDHHlw Epmiseie seupren eursSwb erg)?

A) mrewnseald ebdlygust GLryGsel 2 (heumnsear sSraruLBEng)

B) anfiGsan sndly@lisfean (paflu Sigieui ,eum .
(C)  supsdr @Lsflar sabeul () SwaTuns SCensi gl sobeul g6 sramiu@Eleamg.
(D) mynen Qe B supsSrELSmT LD Gg,rﬂeﬂ]ésé]ehmgj

Dilmun has commonly identified with
(A) Afghanistan Island of Bahrain
(C) Khorasan . (D) Rajasthan

Hevwer ereimm LEGH QUIGIEUTE DL WITETD SreRTULBID @)L LD
A) ustafavsmer B) useafler Sa
(C) GCsnCGpmsen (D) yprgevgmen

Who coined the term ‘Lok Pal? ,
Laxmi Mall Singhvi (B) Gandhi
(C) Jawaharlal Nehru (D) Pylee

‘Coormd LITEY era@yib sapedm (PSHTPSHEND 2 (Heumddwieur wimi?
(A) Qway wre el B) s
C) geaniere Crm D) ewue
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67.  According to which of the following articles free and compulsory . educatlon for all
children upto the age of 14 years is provided

(A) Artlcle 2.) _ (B) Article 14
() Article 40 G Avtice 45
é;"gga;rr@@ aps esrsdlen Ly 14 mmg&.@f_u:’_l_ GRBMEHEHEG Goeus LHPLD LT
g6l auprRsLLRE DS
@) orpms B)  oyrig 14
©) asrsz 40 o (D) ayr5g 45

68.  Which part of Indian Constitution conf:a_ins Fundamental Rights?

(A) Partl . (B) PartII
& parti (@) PartIV.
@du sirflusewiibe absls LigGHulla, g 1L 2 Aewsaear @b Qupmyeraren? .
@ usdl B). veH I |
© ussUl - - D ugdIV
69. It took ——— to draft and enact the Indian Constitution.

\M 2 y'éars, 11 moﬁth_s, 17 days

(B) 2years, 9 mqnths, 15 days
(C) 2 years, 8 months, 10 days
(D) 2 years 7 mdnths 8 days

@ lr_r}ﬁu.l aqué]u.ls»smu:uq @mmpuu@mg@@ Grgpaoca %am@serr IO Gla;rrerrmuu;;sm? |
| Ay 2 .%swr@a;m 11 wngisser, 17 prser

B) 2 yan@sar, 9 wrghsd, 15 pmser

©) 2 cé__j,s&n@&ein 8 wrgrser, 10 pacadr -
(D) 2 ypFPsenT, '?wng)rﬁj_aseir, 8 moC_ser
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70.

71.

Which of the following knowledge can a farmer gain from “Farmers’  Field School”
being run by Department of Agriculture and Co-operation, Government of India?

(a) Methods and practices for soil, fertilizer and crop management
(b) How to get bank loans '

(¢) Understand deficiency symptoms of soil nutrients.

(A)  Only (a) (B) Only (b)

(C) Only (o) ' Both (a) and ()

Gerraupeuameupmer, wEHw gfler Ceuarmert LHMID &Sl HPSGI®DWTD BLSSUILGHLD
"efleusmuflser sars LeTell" epeid @ eflausTul ardsmsews Sidleflenar Clup (pigu|b

(@)  weair, 2 7ib wpmib LT ComTaranto LHHIL P@DEET WHMi LLIHE
(DIF Girde ot e b @l Ghili@ioaTD S

(© Hleaar ummﬂé@mméﬁm@ <ifledsemarts Lflub sifley

@), @wipn - L ®B) (b) wiGid

(C) () v @D i (D) (a) Lpmd (c)

In which of the following year, all tax revenues of centre have become shareable
among the centre and states

\W 2000 AD

(B) 2003 AD
(C) 2007 AD
(D) 1998 AD

&Gy Qasrd&EsiuL %.eﬁmq,é}. S@arsg aifl aumaumybd ewwib wHmb wrblensaiamLGu

udlysamiqgwgnsl eSl L g

(A) 2000 AD
(B) 2003 AD
(C) 2007 AD
(D) 1998 AD
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72.

74,

Tenth Five Year Plan period was

M 2002 - 2007

(D) 1997 — 2002

(B) 2002 — 2007
(D) 1997 — 2002

(A) 1992 - 1997
(C) 2007 — 2012
USSTUS ZHSTRTH S L& &Teb
C(A) 19921997
(Cy 2007 - 2012
In March 1947, Mountbétte_n repla_ced' :
(A) Irwin |
By Attlee
Wavell
(D) Cripps
1947 womité-éb 1weyem’ LI L g
QurgiGuppr. :
@A) @ielar
(B) o
{O) Couauehd
(D) Afluev

as Viceroy of India.

GTRTLIGL(HEE LmHoNs @bl SUATTLITE

What event was mainly responsible for Nehru to participate in extreme politics?

(A) Chauri Chaura incident
(B) Swadeshi movement
(C) Non—Co-operation movement .

J allian Wala Bagh tragedy

G S697 Aweie FHLL smramorar apsiu Flapss) arg;?

(A)  Qserfl-Qserym H&p&d)
(B) &GsA Quésd

(C) gsgepurmw Quésn -

D) | gneﬂue&r-mn&nuﬁ$ FWTLD

“AHGS/2020
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75.

76.

Which one was welcomed by the moderates as Magna Carta of India?

A

(B)
(®)
@)

August Declaration, 1917
Indian Councils Act, 1909

Government of India Act, 1919
Government of India Act, 1935

@ndwnefen ‘wrsen srilLr eran Wsaundsearme eupCeunsiul L @eim 68?

(4)
B)
(©)
(D)

Give the correct chronological order.

I.
1L
III1.
IV.

(A)

©

sl GrsLanb, 1917
@ndw sejeandle b, 1909

@ndlw sipsmmis L b, 1919

@ndu oremhiss &L, 1935

Revolt of Mangal Pandey

Vellore Mutiny
Defeat of Jhansi Rani

Mutiny at Meerut
IV, I, 11, I1T

I, IV, III, II

gflwres sme auflengenw H(mHs.

I
IL.

IIL
IV.
(A)
(©)

whiseT UrarGLudler Sean
Cougnt HevaLd

somend remfluflen Ggmeed
By 1.6 SQS

IV, I, II, III

LIV, IIL II

B) I IV,I III

d 11, I, IV, III

®) I, 1V, I, III
D) 11,1, IV, III
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=~
=1 -

The war of Noses took place during the reign of
J Thirumalai Nayak

(A) Sevappa Nayak

(C) Chokkanatha Nayak (D) Ramimangammal
ep&HSENITL Gui Wrme LW & srasdie pen GubHmg ?
(A) Gseuluw prwussi B) dpvow prusst

©) G]arra';a;prrg ETUGET (D) greflwissbomer
78. The stalward among the congressmen became the Chief Minister of Madras in the
first m1n1stry from 1937 to 1939. ‘
C Rajajt ' (B) S Srinivasa
| (Cy P. Subbarayan . (D) P.S. Kumaraswani Raja .

pe(LpETeT a;rrmﬁummn{aﬂa;aﬂ@) 1937 @p;_r,m 19391 e euang G]Lm_“r;rraﬁlem @g,su
DIEDLDESTENEUUNET (LPSAEDLOFFT

A A grgrgd - (B) eren. Feflaurs

(C) G aliuymuen L )] Q.Gréio. @mnu’&mﬁ] FTagT

79.  Periyar was 1mpmsoned by which Govt. for Vaikkom Satyagraha in 19247

@A) Hydrabad Nizam Govt. _ (B) Mysore Govt.
’I‘ravancore Govt. ~ (D) Mangalore Govt.
1924-1b e me_ng)g) MCUEHLD &gmmﬁr,ra; GuugnLLg,g,]mnGo Qulwreny neg QEls
25 6TG7? _ . '
(A) eansgrunsg Hlemb Siya . (B) @i s

(C) Q@G}JW@&#Q{U’& ' _ _(D) LOBISEETHIT DTS

80. The mode of revenue collection was known as the ryotwan system which was an
. Innovation of : '

Sir Thomas Monroe o (B) Wellesley

(©) Lord Curson () William Bentinck
eufleu@ell& @D mgﬂ@wmwu_i grru.ugsﬁmﬂuﬂe‘o q@é’;@mmfr |

(A) & gmoch wenGyr (B) QasGasd

© s Sy siser (D) Bbedud Quéng
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. 82.

- 83.

- 84,

Which of the f0110w1ng councnls were assisted the sangam rulers‘?
(A) Sabha and Samithi _
Aimperum Kuzhu and Enperayam
(C) Ashtathik - kajas and Ashtapradhans
D) Ur and Mantram - -

EpeuHD Siencusaileh GG HTW WERTHEHEE 2 Selwmausar LTl ?

(A)  gumLHHYL b
(B) gwlu@mriE wHHD Gréﬁur(‘éuumtb

(C) ey S Gagrisar mg}gjtb DL Slygme

D) e wHYD weTHLD

: Thé garland of the .Chera’s was

(A) - Figflower N o d Palmyra flower
(C) Margosa ﬂowe: : I (D) Leocas flower

Capreaflen SenLWTeT WiTene

(A) _- SEH0y, . B) uendy
(C) Geuliuby, . - D) gwoeuly
. Dunng the Sangam age, m which place Roman coins were minted?
(A Ad1chanallur : _ j Arikkamedu
(C) Korkai ! _ (D) Puhar

. sis srasde, ans @sfé Crmonafiu pramukisd s SEILCLE? |
(A) - mpféspognt - - (B)- =flasGo@
(© QGsmpeos - - D) ysnir

Which place the Dravida Sangha of Deccan was founded in the year 470 A. D‘f‘

(4) Kanchipuram S (B) rahma g1r1 :
(C) Mysore _ . Madurai-
' -.5;1.19.470-133 Sy (B gé;asrrmﬁimeﬁl_ssﬂa;tbcrrﬁl@ﬁbml;luﬂ_l_@? _
(A) smedlynd - R (B) Ggibw AR
©) ewsi : - D) uvmer |
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85.  Theppakkadu is familiar for o
. {A) Deer camp _ \6 Flephant camp

(C) Tiger camp (D) Wild Dog camp
Qasliussr® agnE Uapbdunng?
(A) wrengeT (WPHMD (B) wnerensdr apsmid

(C) ydllaer qpambd D) sl @ prisa srd

 86. The Annual survey of Industries (2011-12) réleag;efl by the Central Statistical Organisation

(CSO) had revealed that the state registered manufacturing industries
units occupied the first position among the major industrial states. .

(A) Maharashtra : (B) West Bengal

(C) Karnataka G Tamil nadu

‘wiHu r;|ei7sﬁ1u5]ud: Sewlund BLESUURD umLisdly Gemfld oiflsas (2011-12) -é& ug
Qpdwurefidr ufey Galwiuie epudd dswuupw Csmfpisraasalld wsd Gusmso

Suy.sgieTer wria ag?
(A) wsTrreEyLyT (B) Cuse ks
(C) arpr_an D) s sr@

87. In 2012-13, Tamil Nadu State share in total All Indian Cement Production was |

(A), 10.00 percent (B) 15.00 percent

11.00 percent (D) 09.00 percent
2012-13 b @, Qi Hwnedics HAwam 2 HusHuiledr slpBT e Uk
@A) 10 szeddsid (B) 155zt

(C) 11 szelldlzd | D) 9azaidign

88.  Density of population is measured as
(A) Land area/Total population
(B), Land area/Employment
d Total Population/Land area of the region

(D) Total Population/Employment

&S5 QFTens SILTSS erenLIg

(A) Fosdeér sierayinssdr Ggams

B) HesdHen serey/Gousre eumiiiiy
(C) s Qgnas /AL Hla sera
D) wasd Qzrens /Gouaen cumiiig
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89.

90.

91.

What is the 8th term of a G.P. whose 6t term 1s 972 and the common ratio is 3

(A) 2916 (B) 3888

(C) 5832 | M 8748

e G.P. a1 6™ 2 gy 972 wpmib sigen Qung) 6z 3 erafle 8™ 2 mitiy
(A) 2916 (B) 3888
(C) 5832 (D) 8748

Find the missing number in the following sequences. 2%, 3%, 5%, 7%,.....13

@ 9 B) 10

y 12 (D) 84

Gemaumid Agmit euflensuie eNHuLL eramrenawts snews. 2°, 3%, 5%, 72,.....13°

@ 9° B) 10?
C) 1r? (D) 84

If CLASSIC can be written as XOZHHRX then CHILD can be written as

XSROW
(B) XSROV"
(C) XSROU

(D) SXROW

CLASSIC arenuens XOZHHRX eren erpdlammes CHILD erénueng ereucunmy erpgeomtnp?

(A) XSROW
(B) XSROV
(C) XSROU
(D) SXROW
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92.  If the total surface area of a cube is 486cm” then find the lateral surface area and

volume respectively.
(A) 729cm’, 324 cm’

324cm?®, 729 cm?

M 324cm 729 cm®

)y 1729 cm", 324 cm®

P serssgrsHen Qurgs Lpauriy 486 Q.8 aalld eiger UsSD LTUUW, ST BaTayLb

L e . G-
(A) 729 Ge. 5, 324 Qa1 -
(B) 324 Qs.8, 729 Qs

(©) 324 Qs.8, 729 Qs.f’

D) 729 Q.5 324 Qs.15

93.  The ratio of radii of two spheres are 4 : 7 then the ratio of their volumes

A 4:7
(B) 64:49
(C) 16:49

Bm Canemiuseflan sy pruseler slfsib 4 : 7 aralfle san Sereysefen eRHHLD

@A) 4:7
B) 64:49.
(C) 16:49
(D) 64:343
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94. A sum of money invested at compound interest amounts to Rs. 800 in 3 yrs. and to
840 in 4 yrs. Find the rate of interest per annum?

4) 2%% - (B) 4%

2
Jf)% ) Gg%

5. 800 @ 0l () ulig 655D 3 A@TOSEHEGD. 5. 840 4 HEHEEHEED @ kA
Qegusdanme HenL &G el ly. 6581 eTeueiatey?

@ 22% B) 4%
C) 5% i D) e%%

95. Find the principal if the difference between compound interest and simple interest
on it at 15% per annum for 3 years is Rs. 1134

(A) 12,000 d 2 16,000
(C) 78,000 ' (D) % 6,000

15% ya® il guid, 3 HTHsEsE oL ss safl ulysE sl el ysEn G Cuw
2 arer eflgHwrad T 1134 erafleh sigmans sreans.

(A) 12,000 = ®) 16000

(C) ¥8,000 (D) 6,000

96.  What will be the duplicate ratio of 2 : 7?

d 4:49 : B) 49:4
C) 4:14 (D) 8:343

2 : T-an @muig Ads1d erenaneuns @ mEELD?
A) 4:49 ' B) 49:4
© 4:14 . (D) 8:343
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- 97. © HCF and LCM of two numbers are 2 and 154 respectively. If the difference between
them in 8 ﬁnd the sum of the two numbers

J'SG

®) 26
(C) 56.
@) 46

&) eranaaflan S.Gurar 2 wogd alm,r_r)ﬂm B4 154 ageusﬂ@ GFGNT&@}&QGDL_GUJ o_drer
- Gaugun( B erafleh Bieum bl m@g,a) GTemGn?

@A) 36
(B) 26
©) 56

D) 46

. 3 3 2 2
| .Mu'ltl.ply a? +2ab + b* by a-b

A a® ~ab+b*

B o+
(C)  c*+ab+bd’
O B
a® +b® - a —b2

S oab il =3 <& Qu(mss feri_CiLg,)

Q) o’—ab+b?

B) a®+b
(C) a’+ab+b?
(D) 03 _ba
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99. By selling 5 articles, a man gains the C.P of 1 article, his gain percentage is

A) 25%
M 20%

©) 50%

D) 5%

5 Qunmlsmer NlHuSTED, @M BUMES @ Qurmellar 2G5 lamawneag @eTULTEss

fav_&8mg) erafler @amu s5655b
A) 25%

B) 20%

(C) 50%

D) 5%

100. The sum of a number and its reciprocal is % then the number is

@A) 6
A 8
© 9
D) 65

(1 GTemT LLHMILD F6 H S uflen gaHFe % GTae) DiHS GTedT Wmg)?

@ 6
®)
©)
D) 65
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An answer sheet will be supplied to you, separately by the Room Invigilator to mark the answers.

You will also encode your Question Booklet Code with Blue or Black ink Ball point pen in the space
provided on the side 2 of the Answer Sheet. If you do not encode properly or fail to encode the above
information, action will be taken as per Commission’s notification.
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response and mark in your Answer Sheet. In case you feel that there are more than one correct
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examination. After the examination is concluded. you must hand over vour Answer Sheet to the
Invigilator. You are allowed to take the Question Booklet with vou only after the Examination is over.
Do not make any marking in the question booklet except in the sheet before the last page of
the question booklet, which can be used for rough work. This should be strictly adhered.

In all matters and in cases of doubt, the English version is final.

Applicants have to write and shade the total number of answer fields left blank on the boxes provided
at side 2 of OMR Answer Sheet. An extra time of 5 minutes will be given to specify the number of
answer fields left blank.

Failure to comply with any of the above instructions will render you liable to such action or penalty as
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